Q : L\¥{%%v‘»
/S k/H“/' . VQ)L_ Mfé bhash

1197 ZBT 'y g+ 1t 2 -*cu 2/ e e
Jsls| 2 gm + 3T o g
9l | o & 30 e
wW8lea| = s & RAE A2 o
A9les| = gmm - 3HE
1885 sagm <t TR
glghy | a-mry 4 3~y DB
qiEsl i ann & BTg

I T i s S A Y
nigles = izt 2w K 2 ;
Bl z-gra 4 R-TE
w83l zagim 4 2w Aty ,
¥l o erhl oy ,-;‘/“/‘"""‘ - et g
6123 U -G N AU :
A T e T e L/ Gl ol
51928 AU A2 qid —+ O i
legle? ey <t Uy v ) e
A g2 2 AU £ 24U : =
283 | = g~k (T "
s s ahd X W Y - é\ anumy

1

i g —{ T - L(K\Zf e

| sialth 42 U -t 24
026\5’{23%\\ Syt Yl

B | w4 3w Peess

Wl | & Yy :

3&\3 L3 \ L W!U 4 \4%4,«1,/ 17

4\\pl2s % ~rils e 117 e 8a 20/ o
. | ;\0/-\7/:, o




